Mol .zfaz‘ H2¥ ¢-26~10

w,.lmlaaaé-? Yo Z1VP wuﬁ

y'= Fogg = (~xvy , 1=/,
MMME,_/]

L

2 +((i-on)+Llon)

L |+ + % =205

Xy = Xy th= e50.5= ]
= 4,44 900)+ 5 ¢"Ca)
22.125 4()(1-.5+ 2, 125)
- (-3_2-2(-;5‘ - 2./2.3‘) |

= 21025 + (13128 ++203)2
= 3.6%086285




A ._:/-'z’* il "'"

g o e Ko =
y “FCs) 1+ h ts)=FC52.05627)

_. y < F(Xd-ll, Yo F‘k)>
2 [=.5+2.1525

= 165625




Cae we
o |
g 1

- P! P V f
IV -’ L 8 q
“b

l (t)‘li ') "J
) J ) y )) xti -Xa'

&
o = ¢
Xo i
"Xo"
= X(¢e)
lhe Edo WMithod

o = ey
fo =
. D% )
.i -
[X: ; 4o th ] &,éj
Xot h F74. g *
he B

de =
Yo
th GG,y
y 0,7.-,)

P’L ? ' l'l G< éul v



WKA/&L 472; ~

iy 1
o g . Kt E F(ﬁ,l’.,y,)
X1= Xethi b= Gt

‘{, = Yo t4 L, H F +)
2= P(2e )r.+£k 7 +/,4)
t)7e

La,:'
C@*‘; Xeth K, Yo th LQ

. Jk
Ko B0 4= 2N






